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4. Each question has four alternative answers. The candidate
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Example: @ O OO

5. Rough Work is to be done in the space provided in the
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6. Use of white fluid or blade for correction on the Answer-
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permissible.

8. After completion of examination, you are allowed to take
away your Question Booklet.
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ENGLISH

Read the following passage and answer by
selecting correct option. (Q.1 to 5)

For the mobility impaired, highly trained
canines called “Service dogs” can pick up
dropped keys, open and close drawers, retrieve
prepared meals, help a person in and out of
bathtubs, dial 911, push and pull wheel chairs,
help operate a car or van and pull off gloves,
shoes, socks and jackets. Other dogs provide
specific assistance to those who suffer seizures
(Sudden attack of illness) and require special
medication. And, of course, the helping dog
provide companionship, play and give
unconditional love to the people they assist.

It is thirty odd years since the placement of the
first assistance dog. But only in recent years,
with the rising independent movement among
disabled people has the idea begun to spread
widely.

While most service dogs are trained to work
with people who rely on wheelchairs, other
categories of helping dogs include hearing dogs
which alert their owners to sound, such as
doorbells, phones, cooking timers, alarm clocks,
smoke alarms and seizure dogs which carry
medication in their packs and are trained to dial
911 on large keypad phones.

1. The service-dogs were:
(a) paid highly
(b) less in number
(c) multiple taskers
(d) employees

2. The idea of assistance dogs became popular
due to the:
(a) awareness by the hospitals
(b) independent movement among the
disabled
(c) independence of the country
(d) both (b) & (c)

3. The categories of helping dogs are :
(a) domestic dogs, service dogs and seizure
dogs
(b) hearing and domestic dogs
(c) service, hearing and seizure dogs
(d) none of above

3)

4. There is difference between:
(a) The service dogs and the helping dogs
(b) The service dogs and the canines
(c) The canines and the ordinary dogs
(d) both (b) and (c)

5. Give the noun form of “trained”:
(a) train
(b) trains
(c) training
(d) trainee

Read the passage and answer by selecting the
correct option: (Q.6 t010)

This is a great lesson for all of us to learn, that in
all matters the two extremes are alike. The
extreme positive and extreme negative are
always similar. When the vibrations of light are
too slow we do not see them, nor do we see
them when they are too rapid. So is with sound;
when very low in pitch we do not hear it, when
very high we do not hear it either. Of like nature
is the difference between resistance and non
resistance. One man does not resist because he is
weak, lazy and can not; because he will not; the
other man knows that he can strike an irresistible
blow if he likes; yet he not only does not strike,
but blesses his enemies. The one who from
weakness resists not commits a sin, and as such
can not receive any benefit from the non-
resistance, while the other would commit a sin by
offering resistance.

6. “reereererenenenns in all matters the two extremes
are alike”, means :
(a) Powerful men always gain success
(b) All human beings are of same characters
(c) Boys and girls are equally talented
(d) The extreme positive and extreme
negatives are alike

7. When the sound is in low pitch :
(a) we fail to hear it
(b) we can hear it easily
(c) it pleases us
(d) we feel dizzy
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8. Too rapid vibrations of light:
(a) can be easily seen
(b) can not be seen
(c) should be enjoyed
(d) both (a) & (c) are correct

9. The one who resists is different from a man
who does not resist, because of his:
(a) nature
(b) weakness
(c) strength
(d) laziness

10. The word ‘irresistible’ means :
(a) tied so closely that it cannot be
separated
(b) that can not be changed back
(c) so strong that it can not be stopped
(d) so valuable that it can not be replaced

Choose the correct synonyms (Q.11 to 15)

11. Servitude
(a) bondage
(b) charitable
(c) gratitude
(d) status

12. Reverence
(a) reference
(b) respect
(c) disrespect
(d) foster

13. Perilous
(a) planned
(b) unnamed
(c) pathetic
(d) unsafe

14. Sanctity
(a) sanction
(b) temple
(c) holiness
(d) violated

15. Grimace
(a) sneer
(b) glimpse
(c) laughter
(d) unreal

(4)

Choose the correct antonyms (Q.16 to 20)

16. Insipid
(a) witty
(b) meagre
(c) wily
(d) malaise

17. Innocuous
(a) offensive
(b) harmless
(c) organic
(d) anger

18. Veneer
(a) exterior
(b) interior
(c) impression
(d) armour

19. Audacity
(a) quivering
(b) patricide
(c) bravado
(d) cowardice

20. Sacrosanct
(a) irreligious
(b) unethical
(c) irreverent
(d) open

Choose the correct one word substitution for
the given sentence (Q.21 to 25)

21. The study of ancient societies:
(a) Anthropology
(b) Archaeology
(c) History
(d) Ethnology

22. State in which the few govern the many:
(a) Monarchy
(b) Autocracy
(c) Plutocracy
(d) Oligarchy

23. A place where bees are kept is called:
(a) An apiary
(b) A mole
(c) A hive
(d) A sanctuary
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24. A person who speaks many languages:
(a) Linguist
(b) Monolingual
(c) Polyglot
(d) Bilingual

25. gne who does not believe in existence of
od:

(a) Egoist
(b) Naive
(c) Stoic
(d) Atheist

Arrange the jumbled words appropriately to
forma meaningful sentence (Q.26 to 30)

26. forget/to/off/the/leave/lights/don't/turn/
before/you

(a) Forget to lights off the turn don’t leave
you before

(b) Don’t forget to turn off the lights before
you leave

(c) Turn don’t off the lights you leave before
forget to

(d) To forget don’t leave before you lights
turn off the

27. you/message/a/will/to/give/mother/your/
please
(a) Will you mother message your a give to
please?
(b) Please your mother message will give
youtoa
(c) Will you please give a message to your
mother?
(d) Give you a will message your mother to
please

28. weekly/is/journal/a/this
(a) This is a weekly journal
(b) This journal is a weekly
(c) A journal is this weekly
(d) Is a weekly journal this?

29. trade/the/the/few/of/know/tricks/men
(a) The tricks of the trade know men few
(b) Few men know the tricks of the trade
(c) Few men trade the know of the tricks
(d) The trade the tricks know of few men

(5)

30. monsoon/rain/much/had/this/not/have/we
(a) We had not much have this monsoon
rain
(b) This monsoon rain we have had much
not
(c) Monsoon this rain we have not had
much
(d) We have not had much rain this
monsoon

Choose the most appropriate meaning of the
given idiom/proverb (Q.31 to 34)
31. Absence makes the heart grow fonder.
(a) If you don’t have a heart, you will still
love someone
(b) When you are away from someone you
love, you love him/her even more
(c) You are absent only when he/she is in
love
(d) None of these

32. A flower blooms more than once.
(a) If you miss an occasion, you can avail it
at another time
(b) Who says that the flowers only bloom
once?
(c) An occasion that is missed will not come
again
(d) None of these

33. Beauty is only skin deep.
(a) Beauty lies only on the skin
(b) Only a person with a beautiful skin is
beautiful
(c) A person’s character is more important
than his/her appearance
(d) None of these

34.The wound is the place where the light
enters you.
(a) Light covers wounds
(b) Light is important for wounds
(c) Wounds are made up of light
(d) Pain and suffering guide one to
enlightenment

Choose the correct option from Direct to
Indirect form of speech(Q.35 and 36)
35. Meera said “ | am very busy now.”
(a) Meera said that she was very busy then
(b) Meera says that she was very busy then
(c) Meera was saying that she was very busy
then
(d) Meera said that she was very busy now
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36. My aunt says, “l am unwell.”
(a) My aunt said that she is unwell
(b) My aunt had said that she is unwell
(c) My aunt says that she was unwell
(d) My aunt says that she is unwell

Select the correct active voice of the following
sentences (Q.37 and 38)
37. A large house was built by Ketan.

(a) Ketan built a large house

(b) Ketan builds a large house

(c) Ketan has built a large house

(d) Ketan had built a large house

38. The magazine had been read by Sarita.
(a) Sarita reads the magazine
(b) Sarita had read the magazine
(c) Sarita read the magazine
(d) Sarita has read the magazine

Select the correct passive voice of the
following sentences (Q.39 and 40)
39. Reena made a second attempt.
(a) A second attempt had been made by
Reena
(b) A second attempt is made by Reena
(c) A second attempt was made by Reena
(d) A second attempt is being made by
Reena

40. | will submit the manuscript tomorrow.

(a) The manuscript will be submitted by me
tomorrow

(b) The manuscript is. submitted by me
tomorrow

(c) The manuscript has been submitted by
me tomorrow

(d) The manuscript had been submitted by
me tomorrow

Tick the correct option (Q.41 to 50)
41. Of course my daughter is the girl
in the group.
(a) more beautiful
(b) beautiful
(c) as beautiful as
(d) most beautiful

42.1 think we are lost. The man ______ have
given us the wrong direction.
(a) might
(b) should
(c) would
(d) will

(6)

43. What time did they ____the hotel?
(a) arrive to
(b) arrive at
(c) arrive in
(d) getin

44, heis thin, he is strong.
(a) But
(b) As
(c) Though
(d) Because

45. Another way of saying “old fashioned” is
the times.
(a) beside
(b) behind
(c) outside
(d) None of these
46. 1 like coffee | don’t like tea
(a) but
(b) and
(c) so
(d) because
47. Next week we into our
new house
(a) will move
(b) had move
(c) do move
(d) moved

48. 1 English tea. Is it good?
(a) drunk
(b) have never drunk
(c) have drunk
(d) am drinking

49. The injured
ambulance
(a) were taking
(b) was taking
(c) were taken
(d) have taken

to the hospital in an

50.0n my African trip, | saw a of
lions.
(a) bundle
(b) army
(c) pack
(d) pride
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GENERAL KNOWLEDGE

51.Name the site of Indus Valley civilization
which is currently located in Pakistan.
(a) Kalibangan (b) Harappa
(c) Alamgirpur (d) Lothal

52. Who was the founder of slave dynasty?
(a) Balban (b) Razia Sultan
(c) Qutub-ud-din Aibak (d) ltutmish

53. were the first European who came
to India for trade.
(a) The English
(c) The Portuguee

(b) The French
(d) The Dutch

54. ‘Hornbill festival’ is a cultural festival
celebrated in which state?
(a) Assam (b) Nagaland
(c) West Bengal (d) Bihar

55. Identify the incorrectly matched pair.
(a) Mars — Red planet
(b) Jupiter — Largest planet
(c) Earth — Densest planet
(d) Venus — Coldest planet

56. Which among the following is the biggest
fresh water lake in the world?
(a) Lake Assal (b) Lake superior
(c) Lake Van (d) Dal lake

57. Which one of the following states has the
largest area under permanent forest?
(a) Bihar (b) Kerala
(c) Madhya Pradesh  (d) Uttar Pradesh

58. Delhi gets winter rainfall due to
(a) South West Monsoon
(b) North East Monsoon
(c) Conventional rain
(d) Western disturbances

59. Name the continent which is known as
“peninsula of Peninsulas”.
(a) Europe
(b) Asia
(c) Australia
(d) South America

60. Who is known as the “Milkman of India”?
(a) M Swaminathan  (b) Vishal Tiwari
(c) Dr Arun Krishnan  (d) Verghese Kurien

(7)
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61.

62.

63.

64.

65.

66.

67.

68.

69.

City which is known as ‘Manchester of
North India’.
(a) Kanpur
(c) Agra

(b) Delhi
(d) Lucknow

Choose the incorrectly matched pair.
(a) Hockey — Aga Khan Cup

(b) Football — Ashutosh Trophy

(c) Chess — Ranji Trophy

(d) Boat Race — Nehru Trophy

The first musician to be felicitated with
“Bharat Ratna” was

(a) Pt Ravi Shankar

(b) M S Subhulakshmi

(c) Lata Mangeshkar

(d) Pt Bhimsen Joshi

Milk, eggs, cheese, yogurt and fish are rich
source of

(a) Carbohydrates
(c) Calcium

(b) Sugar
(d) Vitamin C

Who is the writer of the autobiography “My
experiments with truth”?

(a) Sardar Vallabhbhai Patel

(b) Bipin Chandra Pal

(c) Chandra Shekhar Azad

(d) Mahatma Gandhi

The “city of Siri” in Delhi was founded by

(a) Allahuddin Khilji (b) lltutmish
(c) Akbar (d) Shah Jahan

Who among the following is called as the
“Eather of Indian Renaissance”?

(a) Rabindranath Tagore

(b) Raja Ram Mohan Roy

(c) Swami Vivekanand

(d) Dayanand Saraswati

There are total oceans in the world.
(a) 4 (b) 7
(c)6 (d)5

Which type of vegetation grows in saline
areas?

(a) Evergreen forests

(b) Mangrove forests

(c) Deciduous forests

(d) Mountain forests

(8)
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70. The first census of India was conducted in
the year

(a) 1881 (b) 1886
(c) 1882 (d) 1818
71. is also known as ‘golden fiber'.
(a) Jute (b) Cotton
(c) Sunflower (d) Pulses

¢ . - .
72. ‘Acid rain’ is a result of excess amount
of

(a) CO,

(b) NH,

(C) SO, & NO,

(d) Carbon monoxide

73. Which of the following is called ‘Mini
Constitution’?
(a) Government of India Act, 1935
(b) Government of India Act, 1919
(c) 44™ constitutional amendment
(d) 42™ constitutional amendment

74. ‘National

Dairy Research Institute’ is

located in
(a) Kerala (b) Udaipur
(c) Karnal (d) Rohtak

75. ‘Richter scale’ is used to measure which
among the following?
(a) Earthquakes
(c) Volcanoes

(b) Wind speed
(d) Humidity

76. Who among the following is the ‘Father of
Computers’?
(a) James Gosling
(b) Charles Babbage
(c) Dennis Ritchie
(d) Bjarne Stroustrup

77. What was the code name of the operation
to conduct nuclear test at Pokharan in May
19987
(a) Shakti
(c) Budha

(b) Hansa
(d) Shiva

78. Ildentify the legend whose birth anniversary
is celebrated as ‘National Sports Day’.
(a) Major Dhyanchand
(b) Pullela Gopichand
(c) Kapil Dev
(d) Mohammad Ali

(9)
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79.

80.

81.

82.

83.

84.

85.

86.

87.

Which animal has longest gestation period?
(a) Human being (b) Camel
(c) Fox (d) Elephant

Growing new plants & trees is called
(a) Reforestation (b) Deforestation
(c) Afforestation (d) All of these

Which layer is between core and crust of
the earth?

(a) Magna (b) Martel

(c) Mantle (d) Mental

Liver is an gland.

(b) Endocrine
(d) None of these

(a) Exocrine
(c) Both (a) & (b)

Which of the following dates are celebrated
every year as the ‘UN Day’?

(a) 28 Oct (b) 24 Oct

(c) 28 Sep (d) 24 Sep

“Quit India Movement” is also known
as

(a) Khilafat movement

(b) Swadeshi movement

(c) Home rule movement

(d) August Kranti

was the perpetrator of Jallianwala
Bagh Massacre in Amritsar.

(a) General Reginald Dyer

(b) Lord Curzon

(c) A O Hume

(d) Annie Besant

The ‘Durand line’ is the International border
between which two countries?

(a) India & Myanmar

(b) India & China

(c) India & Pakistan

(d) Afghanistan & Pakistan

Which union territory has ‘French’ as a
commonly spoken language?

(a) Puducherry

(b) Chandigarh

(c) Daman

(d) Goa

(10)
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88. Which of the following football player Is
known as “Black Pear|”?
(a) Ronaldo (b) Pele
(c) Francescoli (d) Kunde

89. What is the new name of ‘Firoz Shah Kotla’
Ground?

(a) Ajit Wadekar Stadium

(b) Gautam Gambhir Stadium
(c) Narendra Modi Stadium
(d) Arun Jaitley Stadium

90. Who is the ‘father of world cinema’?
(a) Le Prince
(b) Louis Lumiere
(c) Dada Saheb Phalke
(d) None of these

91. ‘North pole’ was discovered by
(a) John Cobot (b) Robert Peary
(c) Amundson (d) Captain Cook

92.A compa'ct disc when seen in the sunlight
give out rainbow like coloursdueto
(a) reflection & diffraction
(b) reflection & transmission
(c) diffraction & transmission
(d) refraction, diffraction and transmission

93. The first British Presidency in India was
established at ___
(a) Surat
(c) Bengal

(b) Madras
(d) Bombay

94, Which neighbouring country would you
reach, if you sail across the Palk Strait.
(a) Bangladesh (b) Maldive
(c) Myanmar (d) Sri Lanka

95. What is the maximum strength of the Lok
Sabha envisaged by the constitution?
(a) 545 members (b) 550 members
(c) 552 members (d) 555 members

(11)

HH,

89,

90,

91

92.

93.

94,

95.

Freatferfiera i ) f pafien feretrdt =61 oéreh Licdl
%y 1oy 4 sren arrern 8
(n) e

(c) shiftruenteh

(h) e
() ’fi@

ORTI ITE IZET R IECIEILELRA;
(“) :}Tm Enw Qfgqq

(b) ey e w2feam

(c) itz A wfem

(d) 3T Steeft wfeam

“Forar Ferorert 3 TR’ o &2
(a)?:'rﬁ'ﬂ

(b) AR
(C)WHI%EI‘FIFEF

(d) T & i Tk

It g A grrhr ot
(a) ST Flee (b) Treré forerfy
(c) STHeE (d) FA Fh

T hiFie fewh o g F v 7 @ S @
Tt forer aTe & SRy S 7 Freherd €7

(a) wfeferer 37 fererdar

(b) wfeter 7R SramoT

(c) ferared &7 oy

(d) 7o, ferard=r oM g

T o weet forfea Seftdeht et wanfira gd ot 2

(a) (b) 7T
(c) smTet (d) wiTear

& 3119 UTeh STASHRH hl U T § dF 3119 FFg

Teret e uET weR &2
(a) TR (b) TS
(c) ®IMR OEIGED

Hfaar g0 aRerfera e o forad srftrerem
HER B 2
(a) 545 G<H
(c) 552 4e&

(b) 550 e
(d) 555 He&g
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96. Which of the following is not a permanent
member in the Security Council of United
Nations which has 15 members?

(a) China

(b) Germany

(c) United Kingdom
(d) France

97. Who wrote “Gulliver’s Travels”?
(a) John Bunyan
(b) John Gay
(c) Jonathan Swift
(d) John Webster

98. The “Ten degree channel” is a channel that
separates___
(a) Nicobar & Andaman Islands
(b) Little Andaman from the east of the
Andaman Islands
(c) Minicoy from the west of the
Lakshadweep
(d) Somalia Island from Nicobar Islands

99. The “Ram Mandir Bhoomi Poojan” was
done on
(a)Jan 2, 2020
(b) April 10, 2021
(c) August 5, 2020
(d) Sept 10, 2021

100. Who was the project director of ISROs
mission “Chandrayaan-2"?
(a) Nandini Harinath
(b) Aditi Pant
(c) Muthayya Vanitha
(d) None of the above

(12)

96. TIH WZ I 15 geE arell g ufwe
forerferfia 3 & R T 9E e €7

97, niyferered Ferew fore foran &7

98. "z feuft e UH Y@ [ R AT
AR
() FrepIeR 37K 3feam v w8
(b) SISAM H1T &g & & ¥ BT 3ieqH
(c) AL & ufim ¥ fafiem
(d) Frepram e wE @ Wrwrfer €19

99, " ufR Y usE" i em)
(a) 02 SH=RT 2020
(b) 10 373 2021
(c) 05 SFTET 2020
(d) 10 forawat 2021

100. THU % fieH “iga-27 & TRESHT R S
off?
(a) et g
(b) 3Afefada
(c) T3 AT
(d) 319 & IS T
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MATHEMATICS

101. x* + 2x3 — 2x%2 4+ 2x —3 s exactly
divisible by:
(@) x3+2x -3 (b) x2 +2x -3
()x?+x—6 (d)x3+x—6

102. If both (x — 2) and (x — -;-) are factors of

Px? + 5x + 1, then which one is correct ?
@p=2r
(b)pr=1
b _
(€)==

(d) None of these

103. Find the LCM of Polynomials
f(x) =4 (x—1)% (x% + 6x + 8) and
g(x) =10 (x — D(x + 2)(x? + 7x + 10)
(@) 20(x — 1)?(x + 2)?(x + 4)
(b) 20(x — 1)(x + 2)? (x + 4)(x + 5)
(c) 20(x — 1)%(x + 2)?(x + 4)(x + 5)
(d) None of these

104. A team of 30 men is supposed to do a
work in 38 days. After 25 days, 5 more men
were employed and the work was finished
one day earlier. How many days would it
have been delayed if 5 more men were not

employed ?
(a) 1 Day (b) 2 Days
(c) 3 Days (d) 4 Days

105. If the wages of 45 women amount to
Z 46575 in 48 days, how many men must
work 16 days to receive ¥ 17250, the daily
wages of a man being double than those of
awomen?

(a) 20 Men
(b) 25 Men
(c) 30 Men
(d) 15 Men

106. Ifa:b:cisl1:3:2andc:d:eisl1:2:3,
Finda:b:c:d:e?

(@)1:2:3:4:5
(b)1:3:2:4:6
(c)1:4:3:2:6
(d)1:6:3:2:4

(13)

101, x*+2x3 —2x?>+2x—3 quieaT EGIEL

BT :
(@) x3 + 2x — 3 (b)x* +2x =3
©x2+x—6 x> +x—6

102. ﬂﬁ(x—Z)ﬂT(x—%)éFﬁ?! px? +5x + 7,

%Tm@g%?haﬂ?mmw%?
(@p=2r

(bypr=1

©Z=1

(d) T A 1S T

103. SEYEY % TTHH GHTIEA 1A |

F(x) =4 (x —1)? (x* + 6x + 8) 3K
g(x) =10 (x — D(x + 2)(x? + 7x + 10)
(@) 20(x — 1)%(x + 2)*(x + 4)

() 20(x — D(x + 2)*> (x + 4)(x+5)

(©) 20(x — 1)2(x + 2)*(x + 4)(x + 5)

(d) T A HE T

104, 30 TENT T T W I 38 i H T FH FETR )

25 Tt 3 g, 5 3R Tt o foham v SR
F T T3 eer @A & T | A4l 5 S e

et =1t foram o o fopar T < <6 =it 2
(@)1= (b) 2=
()3T (@) 4f=

105. 45 wfErei i Aol 48 &1 # T 46575 & St

%1% 17250 T & o foe forat oot 7 16 o
T HTAT T, Th ToV ht 2 wreglt woh wfgen
Y A T T H AT R

(a) 20 9&9

(b) 25 T&¥

(c) 30 7=&9

(d) 15 7%

106. A a:b:c TR :3:2F ANc:d:e

TR :2:3%, AFEH a:b:c:d:e?
(a)l:2:
®b)1:3
(©)1:4:
d1:6

(NS 2 S T SN

W W o W
A N o0 W
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107. A is inversely proportional to the cube of
B.IfA=3,thenB=2.If A= 3 then find the
value of B.

(a)3 (b) 4

()5 (d)6

108. A farmer travelled a distance of only

61 km in 9 hours. He travelled partly on foot
at 4 km/hr and partly on bicycle at 9 km/hr
speed. The distance travelled on foot is :

(a) 14 km

(b) 15 km

(c) 16 km

(d) 17km

109. A train was late by 6 minutes. The driver

increased its speed by 4 km/hr to reach the
next station on time which is 36 km away.
Find the original speed of the train?

(@) 32 km/hr

(b) 33 km/hr

(c) 34 km/hr

(d) 36 km/hr

110. The difference between the simple

interest received from two different sources
on ¥ 1500 for three years is ¥ 13.50. The
difference between their rates of interest is:
(a)0.1%
(b) 0.2 %
(c)0.3%
(d)0.4 %

111. The roots of the quadratic equation

ax? + bx + ¢ = 0 will be reciprocal to each
other if:

(a)a=f
(b)a=c
(cJac=0b
(dja=b»b

112, If (x + i) = /3, then the value of

x506+x500 +x384+x378+x190+x184+

x18 4 x12 s .

(a) 84
(b) 206
()0
(d)1

(14)

107. A, B % 7 % SIohur{urdl & 1 906 A =3 % &

B-2219f%A = gé,ﬁrsmmmam

(a)3 (b) 4
(c)5 (d)6

108, e fram o) Fredies 1 g 9 5 3 T Fard

e arifr gt 4 fperdrzr fa =2 i nfe & g
o st 2t 9 Prendfer ufa =z A nfr a4
arSferer g7ar v e 2 | A v o1 7 g P 2
(a) 14 forardiet
(b) 15 ferediet
(c) 16 feremdiex
(d) 17 fepetriet

109. W 3 6 firre foremwa & off | =rereh 37 & T 4

fapri/eier @ w1gT a1 2 @ 27 3T RIe g9 W
gt 2 5 o6 36 fep ot o gt w2 | 3 < et ifer
AR ?

(a) 32 Terdfi/erer

(b) 33 fersfi/erer

(c) 34 Terefi/erer

(d) 36 Terefi/erer

110. T 1500 Y GRIRT W 1 -1 Gl § fF

et § YW TTIRE SIS 0 3HaT T 13.50 B | h
TS QU T I T R?

(2) 0.1 %

() 0.2 %

(€)0.3%

(d)0.4 %

111. A TR ax? + bx +c =0 FHl T qel T

Tl AR e dl :
(a)a=%
(b)a=c
(c)ac=b
(da=0>b

12, R (x +§) = V3, @

x506+x500+x384+x378 +x190 +x184 +

x18 + x12 FUR RTI

(a) 84
(b) 206
(©)0
(1
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113. X =3+ 2v2Zand xy = 1, then find the

3

x°+ 3

value of w

x2— 2

(a) 22 sy
2 11
209
(b);
205
(C)S—7
201
(d);

114. A'sum of ¥ 2100 is to be paid back in 2
equal annual instalments. How much is each
instalment if the interest is compounded
annually at 10% per annum?

(a) T 1230 (b) T 1240

(c) ¥ 1210 (d) T 1220

115. What approximate sum of money at
compound interest will amount to
%2249.52 in 3 years, if the rate of interest is
3% for the first year, 4% for the second year
and 5% for the third year?

(a) ¥ 1500 (b) ¥ 1600

(c) T 1800 (d) ¥ 2000

116. 16 children are to be divided into two

groups A and B consisting of 10 and 6
children respectively. The average percent
marks obtained by children of group A is 75
and the average percent marks of all the 16
children is 76. What is the average percent
marks of children of group B?

1

(a) 78§ (b) 77;

(c) 78; (d) 775

117. If (3.7)* = (0.037)” = 10000 , then

what is the value ofi - % ?
(@)1
(b) 2
1
(C);

(d)=

(15)

3. afe x =3+ 2V2 3t xy=1,

x3+3xy+y?

x%2=2xy+y?
i
(a 11

%1 9 &I

209
(b) 7

205
()5

201
()22

114. % 2100 TR &t 9T ft 73, fordt @Y st fopwalt &

33T Y I 2 | A s Y et s 10%

TG ST & S, o e e i afer 2t
(a) T 1230 (b) T 1240
(©) %1210 (d) T 1220

115. Tl TS Qv fehert Tf¥r 1 oot 3 9

T 2249.52 B, A <HTS Y TRy vee 99 & forw
3%, TS & fTT 4% s v ad Ffaw 5% 3
(a) T 1500 (b) T 1600
() T 1800 ' (d) Z2000

116. 16 S I 97T: 10 3R 6 F=al & A T A

3 B # fopifora fom e 1 W A sl
3raa gfderd 3 75 3 adt 16 a<ai & f|a

SIcreTd 37 76 2 | g B o Sl 3 3iga gfawa
IAFFTR?

(a)78§ (b) 77§

(c) 7s§ (d) 77§

117. 3 (3.7)* = (0.037)Y = 10000, @t

1
x

(a) 1
(b) 2

%EFTWW?FTT ?

1

()5

2
1

(d)-

4
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118. If x = a*ls — a'2/3, then the value of
x3 +3xis:
(a) a® + ::—2
(b) a® - —
(c)a +%

(d)a—-=

a

119. Find the value of a?+b?+c?—ab—
bc — ca ifa =997,b =998,c = 999
(a)3 (b) 0
(c)1 (d)-3

120. If a, b, ¢ are the sides of a triangle. Find
the type of triangle if
a?+b2+ct=ab+bc+ca
(a) Equilateral
(b) Right angle
(c) Isosceles
(d) None of these

121. 2a and 2b are two chords of a circle which
intersect each other at right angle. If the
distance from its intersecting to the centre
of the circle is ¢ and c is less than radius
then find the radius of the circle.

a2+b%+c?
@y

(b)5VaZ + bZ + 2
(c) Va2 + b? + c?

a2+b%+c?

SN

122. The sum of three altitudes of a triangle is :
(a) Equal to the sum of three sides
(b) Less than the sum of sides
(c) Greater than the sum of sides
(d) Twice the sum of sides

123. Tvyo circles touch each other internally.
Their radii are 2 cm and 3 ¢cm. The biggest

chord of the greater circle which is outside
the inner circle is of length:

(a) 22 em (b) 3v2 cm
() 4V2 cm (d) 8v2 cm

(16)

g, aft x=a’3 - a3, @ x*+3x FUR
1 AN Y
(a)a2+%
(b) a? —
(©a+=

(d)a—=

a

119, af @ = 997,b = 998,c = 999 ¥l
a? +b% +ct—ab—bc—ca 1 T T4 -
()3 (b) 0
()1 (d)-3

120. @ a, b, ¢ TH BoE F EN ¥ AW
a2+ b? + c? = ab + bc + ca ¥ @ frae T
TR T BN 2

121, 4 2a 31K 2b 39 A A A ¥ T TR
A 2 | 9T Sham et oo wdl € AR TS
AR gc? (c <R B, AW
Hifeme:

(a) az+b22+c2
b) AN B2
V@ + b2+ c?

a?+b2+c2
(d) |——
122. e R AR mame
(a) T YSITRAT 3 AT % T
(b) T S[SITAY 6 A1 @
OEEERISIERUEE e
(d) < ST o 0T T T

123. 4 e w0 & g A w1 T
forsa 2 At s 3 A R mﬁiﬁaﬁﬁsaﬁta@.ﬁ

1 e 7 Sfar fraft s R 2 2
(a) 2v2 cm (b) 3v2 cm
(c) 4V2 cm (d) 8v2 cm

%
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124. A cylindrical tank of diameter 25 cm is full

of water. If 11 litres of water is drawn off,

the water level in the tank will drop by :

(Usem = 2—72)

(a) 10% cm
(b) 12§cm
(c) 14 cm

(d) 22§cm

125. Two trains of length 100 m and 80 m

respectively run on parallel lines of rails.
When running in the same direction the
faster train passed the slower one in 18
seconds, but when they are running in
opposite directions with the same speed as
earlier, they pass each other in 9 seconds.
Find the speed of each train.

(a) 10 m/s, 25 m/s (b) 5m/s, 15 m/s

() 15m/s, 20 m/s (d) None of these

126. A, B and C can walk at the rates of

3, 4 & 5 km/hr respectively. They start from
Pune at 1, 2 & 3 O’clock respectively. When
B catches A, B sends him back with a
message to C. When will C get the message?
(a) 4:15 O’clock

(b) 5:15 O’clock

(c) 6:25 O’clock

(d) Can’t be determined

127. The ratio of the ages of Geeta and her

mother is 1:5. After 7 years the ratio
becomes 3:8. What are the present ages of
Geeta and her mother?

(a) 5 Years, 25 Years

(b) 6 Years, 36 Years

(c) 7 Years, 49 Years

(d) 8 Years, 64 Years

128. By selling an article for % 1080, a man

gives 10% discount and earns 30% profit. If
the article is sold at 5% discount then what
should be profit percent?

(@) 37.2% (b) 37%

(c) 38% (d) 41%

(17)

124, 25 UHft =7rd ATt SRR Zeh O G i g R |
afa 1| efter art Frapre form s a7 26 o 9

vt R s e 2 (o = ii)
(a) ’10% aft

(b) 12 Zinf

(c) 14 ot

(d) 22-2—@tﬁ

125. 100 Htex wd 80 Hiex ovars aredt & tamisar
U 92iEl W aadt € | afe SFf o & feam &
I W & @ O fd ¥ <o el mret o afa &
I ITell 1 18 Uehe § U F AT B, 9 Al &
TieAT Uk W H faadia fem F @ @ A 9w
FH W O 9 Yhe T G0T T @ | 2HT eRmiea
&I ifer A |
(@) 10, 25dL&. (b)) 5HLA, 15HA.
(©) 159tA., 20H./&. (d) FH A HE T

126. A, B 3 C ShHIT: 3, 4 Td 5 fopult wf wer i nifar
Y I T T | O H AR 1, 2 @ 3 IS
FAE|TTB, A THIGI A2 A B, ATRTC &
T =T AT ] | C 1 G el WTW BT 2
(a) 4:15 O’clock
(b) 5:15 O’clock
(c) 6:25 O’clock
(d) &va 7

127. T 37X I@ht ATdT H TAWH A H JAE 1:5
21 7 94 91¢ Ig I 3 : 8 B AT IR Iwh
aTaT i T 3 foRaet @ 2
(a) 5, 25 99
(b) 69, 36 A4
(c) 799, 49
(d) 8 9, 64 a¥

128. e SAfth A TG H1 10 % hI T W 1080 §
ST @ R 30% T A FHAAT © | AT T B 5%

1 P W <=1 I qt Ay wfaerd R gem 2
(a) 37.2% (b) 37%
(c) 38% (d) 41%
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129. At the marked price of 36 pens, a retall
seller buys 40 pens. If he give 1% discount
on marked price, find his profit percent.

(2) 10.2 % (b) 10.5 %
(€©) 115 % (d) 10%

3 2 .L
130. 1t o 4 e M =1, then find the
value of—+—~+i
c+a a+b
(a)0 (b) -1
()1 (d) 2

131. A sphere is put in a cube such that it
touches each surface of cube. Find the ratio
between volumes of cube and sphere:
(@)1:2
(b)21:11
(c)11:21
(d)2:1

132. Water flows out through a circular pipe
whose internal diameter is 2 cm, at the rate
of 6 metre per second into a cylindrical
tank, the radius of whose base is 60 cm. By
how much will the level of water rise in 30
minutes?

(3)2m (b)3m
(c)4m (d)5m

133. If [p] means the greatest integer less than
or equal to p, then [—ﬂ + [4%] +[3] is
equalto:

(a) 4
(b)5
(c)6
(d)7

134. A man can row 9% km/hr in still water and

he finds that it takes him thrice as much
time to row upstream as to row
downstream (same distance). The speed of
the current is:

(a) 3’; km/hr
(b) 31' km/hr
(c) 45 km/hr

(d) 1% ken/hr

(18)

129w gy waTh, O A BT @ 36 9 7 gy
e e A0 T ahar & At A e T e
e 1% ) gz & u a9 2 ¥, A T oy
sfoera v 0 |
(a) 10.2 % (b) 10.5 %
(c)11.5% (d) 10%

130. #f& —+——+—— 1,4

cta a+h

@ P I

b+c  cka  ath

()0 (b) -1
(c) I (d2

31, UF A i S eI qae g g O e
@ T R | v S % SArred § S 19
|
(a)1:2
(b)21:11
() 11:21
@d2:1

132, Tt T e gy, Forae Swdifs = 2
2 ¥ mrerm A 6 et g e A XA T TR
5o 7 geaT & Foraeh s Y Fisam 60 & 2 130

e Ot 5w A A T AR |
(@)2m (b)3m
(c)4m (d)S5Sm

133, afk [p] #7 onf § oW w1 Prfek S p, HFAA
T TR A [—%] + [4%] + 3] FARR:
(a)4
(b)5

(c) 6
(d)7

134, @mﬁsmmﬁ fepft/erer A TR T T
m%n%m%ﬁm%uﬁ@mﬁ B
o & ST <Y e ® i AT W T @
th) Y v o f

(1) 3% ferefirerer

b) sf-J Flrier
2 ,

(¢) 45 fopedy et

(d) l%fmﬂm‘a
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135. There are 3 members in a family, mother,
father and son. The average age of the
three members was 42 years on the day of
their son’s marriage. After 6 years of the
marriage, the average age of the family wil|
be 36 years when a grandson was born after
2 years of the marriage. Find the age of the
daughter-in-law at the time of marriage.

(a) 26 Years

(b) 27 Years

(c) 28 Years

(d) 29 Years

136. In a right angled triangle ABC, £B is right
angle. BC is produced to any point D in such
a way that BC=2DC. (BD>BC), then which
one of the following is correct.

(a) AC? = AD? - 3CD’

(b) AC? = AD? - 2CD’

(c) AC? = AD? - 4CD’

(d) AC? = AD? - 5CD”

137. AB is a diameter of the circle, CD is a

chord equal to the radius of the circle. AC
and BD when extended intersect at a point
E. Find 2 AEB.

(a) 30°

(b) 60°

(c) 45°

(d) 90°

138. A,B,C,D are the vertices of a square and M

is the midpoint of AD. N is the intersecting
point of AC and BD. Find ratio of 0 AMNB :
O ABCD

(a)8:3

(b)3:8

(c)a:1

(d)2:3

139. A person invests money in three different

schemes for 6 years, 10 years and 12 years
at 10%, 12% and 15% simple interest
respectively. At the completion of each
scheme, he gets the same interest. The ratio
of his investments is:

(@)6:3:2

(b)2:3:4

(c)3:4:6

(d)3:4:2

(19)

135. et aRar § &9 geer & e, A S ST |

3T 2 1 T o aRaw A fEd g 42 99 off |
T % 6 7 e Wt SfEd I 36 T A,
ST T O T 9 I % 2 9 G g | W
g 5g Y A1 Fepre |

(a) 26 a9

(b) 27 T

(c) 2899

(d) 29 =4

136. "I Bt ABC # £B W % | BC 1 3

mDﬁgwmm%ﬁ?B&zm%l
(BD>BC), q Fr=fafiaa & & 17 a1 o e 22
(a) AC* = AD* - 3CD’

(b) AC’ = AD* - 2CD’

(c) AC* = AD’ — 4CD’

(d) AC* = AD’ - 5CD’

137. AB 99 &I M & 3R CD Sftar, it 34 Ht e

¥ JUI ? | AC 3R BD &l S S¢HT 9T & a 98

ERfiadig | 2 AEB s =)
(a) 30°
(b) 60°
(c) 45°
(d) 90°

138. A,B,C,D W& i & ¥fid € 3 M, AD 1 7ea foig

2 I N, AC 3R BD 1 ¥iisfed fig ® |
0 AMNB : 0 ABCD #1 3139 §1a &1 |
(@8:3

(b)3:8

(©4:1

(@d2:3

139. T ARk dF N ASERT ¥ 10%, 12% 99T

15% ¥ ATIROT A 6 &/ Q FAT: 6 94, 10 9
T 12 99 % fore o Fras T @ | 5 A A
T O W W SIS STW 2T @ | 36 o et
T ST AT &I

(a)6:3:2

(b)2:3:4

(c)3:4:6

(d)3:4:2
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140. An equilateral triangle and a regular
hexagon are inscribed in a given circle. If a
and b are the length of their sides
respectively, then which one of the
following is correct?
(a)a’=2b’

(c) b? =22’

(b) b? = 3
(d)a?=3b?

141. If a and B be the roots of the equation

2 -0 f a? | B?
ax? + bx + ¢ = 0, find the value of7 +=
ab-b%c
(a) 2b2c

(b)

3bc—a?
b2%c

3ac-b?
aZc

(c)

3abc-b3
azc

(d)

142. Let a,b,c be the positive number. The

following system of equations in x,y and z

x2 y2 22 _ . x2 yZ z2 4.
Z+L-Z= T-LiZ=y

a2 bz 2 ? a2 b2 ¢z
x2  y2 72
—'Z;'+-;;'+';;== 1 has:

(a) No solution

(b) Unigue solution

(c) Infinitely many solutions
(d) Finitely many solutions

143. A right triangle whose sides are 15 cm and
20 cm is made to revolve around its
hypotenuse. Find the volume and the
surface area of the double cone so formed.
(Usem = 3.14)

(a) 3678 cm®, 520 L cm
(b) 3867 cm®, 524 Tt cm
(c) 3768 cm®, 420 mcm
(d) 3876 cm?, 424 mcm

N NN

144. Which one of the following number will
completely divide? (3%° + 326 + 327 4 328)
(a)11
(b) 16
(c) 25
(d) 30

(20)

140, fu g st & T wwaTg BRI 3T O Fraf
3ifrd 2 | af% a 3T b A TR ST

oot & 7 Pt 3 & A G o A
(a)a* =21 ()b’ =32’
()b =24 da' =3V’

141, af o it B wfer ax? + bx+c=0%

2
e d, 9‘63+ B gt

04

ab-b?*c
(a) 2b%c

(b)

3bc—a?
bZ%c

3ac-b?

a%c

(c)

3abc—b3
a%c

(d)

142. WMt 4, b, C gTeTE gEan § | fe e afie

H TR FX, Y A’ ZH

z2 2 2 z2
; L+ =4

X
2 b2 c2

143. T wani Brge foreht e, 15 At 3 20 ¥
®, 36 F00 & TR A TR F fAu s 2 | @

TR S SR W H A SR i Sk I
FARR | (r = 3.14)

(a) 3678 4HY’, 520 n {HY
(b) 3867 WY, 524 n Yy’
(c) 3768 AW’ 420 r Y’
(d) 3876 9’| 424 n QWY

144. Frefefea & @ = o wen (325 +3%°7
3%7 + 328) ) ekt fafor 2 2
(a) 11
(b) 16
(c) 25
(d) 30
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145. On the vertex of 5 square, takin
centres, 4 equal circles are drawn sogtha:
each touches two of 4. Another cir?
touching all 4 circles and lies Within t;e
square is also drawn, |f the side of th:

square is 24 cm, find the area of another
circle.

(a) 23.04 t cm?
(b) 23.06 Tt cm?
(c) 17.68 mcm?
(d) 13.52 t cm?

146. Area of a regular hexa
Find its sides

(@) 7cm

(b)6cm

(c)8cm

(d)9cm

gon is 544/3 ¢m?,

147. The base and altitude of a right angled
triangle are 12 ¢cm and 5 cm respectively.
The  perpendicular distance of its
hypotenuse from the opposite vertex is:
(a)4li3 cm

(b) 4 cm

(c)5cm

(d) 7 ecm

148. There are two paths each 10 m wide and

cut each other perpendicularly at the mid of
a garden 150 m long and 120 m wide. Find
the cost of graveling the path at T 2/m??

(a) ¥ 5200/-

(b) % 4800/-

(c)  5600/-

(d) % 4400/-

149, A rung 1% times as fast as B. If A gives B a

Start of 30 m, how far must the winning
Post be, so that A and B reach it at the same
time?

(@)52m

(b) 75 m

(c)69 m

(d)70 m

(21)

145. @aﬁa:arﬁaﬁaﬁ%amiﬂtmaqu

e e < o 3 R HCH A o
FTA 7 AT T 2 mféaﬁ:ﬁgmaﬂmu
37t et 7 1 A 1 |

(a) 23.04 n 3t

(b) 23.06 n &’

(c) 17.68 n TY’

(d) 13.52 AW

46, w Frafir g &1 dea 54V/3 A 2

Igeh! =TT 1 AT 7 AL
(a)7ﬁ1ﬁ
(b) 6 Tft
(c) 8 Ot
(d) 9 ot

147. fordt wmantor Bryst =1 stmam 12 St 7o 0 5

ot % | 3w foepot <t foaudia +fis & o < 919
HL:

(a) 4= Gft

(b) 4= Seft

(c) 5 Beft

(d) 7 @t

148. 150 . &= 3R 120 . DR ST ¥ S

TER HHRIV T/ e T 10 . SR A ey a3y )

%2 wf o ot A Tt e et
1 <hifsrd 2
(a) T 5200/-
(b) X 4800/-
(c) X 5600/-
(d) X 4400/-

149. A,BR 1%@%33?:@@#&& B I 30 Wi

T P S 8, < S el e e g @

=TT afeh A ﬁtawamqq—gqﬁ?
(a) 52 HI

(b) 75 Hrex
(¢) 69 Hiax
(d) 70 "
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150. In the figure AB=BF=FD=DE=EC=CG =

AG, then ZA is :
D
X
G F E
(a) 24.7°
(b) 25°
(c) 25.7°
(d) 29°

151. Let O be the in-centre of a triangle ABC

and D be a point on the side BC of A ABC,
such that OD L BC. If zBOD = 15°, then
£ABC =
(a) 75°
(b) 45°
(c) 150°
(d) 90°

152. There were 35 students in a hostel. If the

number of students increases by 7, the
expenses of the mess increase by ¥ 42 per
day while the average expenditure per head
decreases by ¥ 1, Find the original
expenditure of the mess.

(a) T 550/-

(b) ¥ 520/-

(c) T 450/-

(d) T 420/-

153. If the numerator of a fraction is increased

by 200% and the denominator is increased
NP
by 400%, the resultant fraction is 156' What
was the original fraction?
3
(a) 1 2

(b) =

(22)

150, Rumgfm® AB=BF=FD=DE=EC=

CG = AG, @ LA FTAF I
D

(a) 24.7°
(b) 25°
(c) 25.7°
(d) 29°

151. =T f% O Fnf ABC @1 3fd 3% & a1 fag D

o1 BC W 39 y#R fua 2 f5 oDL BC. A<
ZBOD = 15°, a9 LABC =

(a) 75°

(b) 45°

(c) 150°

(d) 90°

152. T SEEE & 35 B 3 | A 7 SHI h AT G

A2, aa A w T A T 42 WA A A afa TR,
Safr T afr lad@E 2 | SN IS | HE &
Frefas @9 g4 il

(a) ¥ 550/-

(b) ¥ 520/-

(c) T 450/-

(d) ¥ 420/-

153. afe freft i F 9 & 200% 30 7T H 400% F

q@ﬁw%amw%io T2 |
R g

@13

(b) =

()2

(d) 1%
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y54. Four milkmen A, B, Cand D hire a pasture

A has 18 cows that graze for 4 months B
has 25 cows that graze for 2 months C t'|as
28 cows that graze for 5 months and' D has
21 cows that graze for 3 months. If A pays

Z360, then what is the rent of the pasture?
(a) T 1625

(b) ¥ 1240
(c) ¥ 1340
(d) T 2260

155. Vessel A and B contain mixtures of milk
and water in the ratio 4 : 5 and 5 : 1
respectively. In what ratio should quantities
of mixture be taken from A and B to form a
mixture in which milk to water is in the ratio
5:4?

(@)2:5

(b)4:3

()5:2

(d)2:3

156. A container contained 80 L milk. From this

container 8 L of milk was taken out and
replaced by water. This process was further
repeated two times. How much milk is now
contained in the container ?

(a) 58.23 L

(b) 58.32L

(c) 85.23 L

(d)85.32L

157. If AB is diameter and CA =5 cm and radius

= 6.5 cm then find Area of A ABC

C

VANNY

(a) 60 cm?
(b) 30 cm?
(c) 40 cm?
(d) 52 cm?

(23)

154, = e A, B, C 3 D 7 freht T ST

o qr et | A 31T |8 TTRT 4 TR =TS, B 25
mzqﬁ%mﬁ,cizsmsqﬁwoﬁzlm
3 Ty =rard | f et TR B E AT AR 360 &
?hammfaﬁmmﬁmm%?

(a) T 1625

(b) T 1240

(c) T 1340

(d) T 2260

155 e A 3B F AN 405 A5 1 F I A

v i a1 o 2 1 A SiR B @ fRE s A
Ryt 1 T oft TRt e R S 4 % IgaE A
agaﬁwr:ﬁaﬁrﬁwméa%?

(@2:5

(b)4:3

(©)5:2

(d2:3

156. T HeATH 80 et qur & | T 8 St gu Freprer

AT ST IHF T 9T g ST & T | 36 uhe
1 77 31 TR ALTAT 7T | e H 6ok w2 fohat
WEATH 3Y &7

(a) 58.23 =ftexT

(b) 58.32 =X

(c) 85.23 ST

(d) 85.32 #fiX

157. af< AB =918 & 3T CA = 5 O, fir=am = 6.5 ot

A A ABC &1 5%t 10 &0
c

VANNY

(a) 60 T
(b) 30 A’
(c) 40 B
(d) 52 9’
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158. In the given figure O and 0' are the
centers of two circles intersecting at B and

C. ACD is a straight line, find x.

(a) 100°
(b) 110°
(c) 120°
(d) 130°

159. A circle touches all the four sides of a
quadrilateral ABCD then
(a)BC+DA=AB+CD
(b) AB + BC=CD + AD
(c) ABCD is rectangle
(d) ABCD is square

160. Subhash purchased a refrigerator on the
terms that he is required to pay ¥ 1500 cash
down payment followed by ¥ 1020 at the
end of first year, ¥ 1003 at the end of
second year and ¥ 990 at the end of third
year. Interest is charged at the rate of 10 %
per annum compound interest. What is the
approximate total interest paid for the
refrigerator?

(a) ¥ 5000
(b) ¥ 5100
(c) 5120
(d) ¥ 4000

161. ABCD is a trapezium in which BCis 8, CDis
10, AD is 12 and AB is 16. If side AB Il DC,
then find the sum of square of its diagonals.
(a) 208
(b) 320
(c) 528
(d) 428

162. A vertical stick 12 m long casts a shadow
8 m long on the ground. At the same time a
tower casts the shadow 40 m long on the
ground. Determine the height of the tower.
(a) 40 m
(b) 50 m
(c) 60 m
(d) 70 m

(24)

158. RumefAd

Oand O AT FFZENN B3R

T T A FE € | ACD & 8 W@ ? | x %

D

T 1 AL |

(a) 100°
(b) 110°
(c) 120°
(d) 130°

159, T g9 T4 ABCD # WRI g H w

FATead

(a) BC + DA=AB +CD
(b) AB + BC=CD + AD
(c) ABCD T& 3d ®
(d) ABCD G a1 &

160. gw%@w@aaﬁmm‘mﬁﬁaﬁaﬁ

% 1500 Toha TRT Aehidd WIAH & &9 H, T 1020
o ¥ % i@ §, T 1003 q@ Y % A 7 I
% 990 et I ¥ i F 3 TN AR SIS hY IO
10 % &1 ¥ wfrad Sperc] ST & Y Sl € Al
T ek, TATINT <6 TTUAT L |

(a) T 5000

(b) Z 5100

(c) ¥ 5120
(d) T 4000

161. ABCD W& aua 2 N BC=8%,CD=10%,

AD=12% 3 AB =162 13k =1 AB || DC 2
it 3 forahurt o 3t o1 AT T R

(a) 208

(b) 320

(c) 528

(d) 428

162. T 12 Hiet it Seatat o2 I orr B T

S W 8 i ® | A et v s dew i I
1 TS 40 WX A A FiAR Sy S Fra |
(a) 40 .

(b) 50 .

(c) 60 H.

(d) 70 .
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163. The distance between two parallel chords

of lengths 8 cm each in 3 circle of diameter
10cm is -

(3)5.5cm
(b) 7 cm
(c) 8 cm
(d) 6 cm

164. A cylinder is surmounted by a cone at one

end and a hemisphere at the other end. The
common radius is 3.5 cm, the height of the
cylinder is 6.5 cm and the total height of the

structure is 12.8 cm. The volume V of the
structure lies between.

(a) 370 cm®and 380 cm?
(b) 380 cm® and 390 cm?
(c) 390 cm® and 400 cm?
(d) None of the above

165. A chord AB of a circle C; of radius
(\/§ + 1) cm touches a concentric circle C,
of radius (V3 — 1) cm, then the length of
AB is:

(a) 8¥3 cm

(b)4Y3 cm

(c) 43 cm

(d) 2¥/3 cm

166. If the income tax is increased by 19% the
net income is reduced by 1%. The rate of
income tax is:

(a) 6%

(b) 4%

(c) 5%

(d) 7.2%

167. The price of sugar falls down by 20% and a

housewife is able to buy 5 kg more in 100.
Find the original cost price of sugar in ¥ per
kg?

(a) T 8 per kg

(b) % 9 per kg

(c) X 6 per kg

(d) 5 per kg

(25)

163. 10 at sarg % w 3@ & 8 Fft T B A

A Sharsl F fa F g2 -
(a) 5.5 9.

(b) 7 T,

(c) 8 @Y,

(d) 6 B,

164. ST ATHT F TH I 4L T TH A T

Tirerd fawet got 8 | 3vafE AR
AT 6.5 AT 3T 12.8 Tt R | AT FHT 3T V
freafafgad a frasfiaag?
(a) 370 UHY.* 3w 380 T’
(b) 380 A’ 3 390 [T’
(c) 390 T’ 3k 400 At ?

(d) &9 & rg T

165. F@ C, s fism (V3 + 1) ¥t * &t =

Sfar AB @hfza 9w C, feh fBisar (V3 —1)
A, Aoy et e, MABFI T=rs 2
(a) 8V3 aHt

(b) 4Y/3 Qe
(c) 4v/3 Tt
(d) 23/3 ot

166. AfT JTTEHT 19% 7 1T 8, Y 5 31 1% FA R

ST R A TR R TR
(a) 6%

(b) 4%

(c) 5%

(d) 7.2%

167. & <t 3 e F 20% i 5ft & S & 4 o

Tfevlt %1 2 100 F 5 foret stfres < wiie T 2
=i+t <A1 <o oo iy el o gra -

(a) T 8 ufa foret

(b) T 9w ferett

(c) % 6 i foreit

(d) T 5 9fa ferely
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Directions: (Q.No. 171-175). Study

168. If January 3, 2008 was Friday. What day of

the week fell on January 3, 2009?
(a) Sunday

(b) Monday

(c) Tuesday

(d) Saturday

169. A regular hexagon is inscribed in a circle of

radius 5 cm. If x is the area inside the circle
but outside the regular hexagon, then which
one of the following is correct?

(a) 17 em*<x< 19 cm
(b) 15 cm?<x< 17 cm
(c) 13 cm?<x < 15cm
(d) 19 cm? < x< 21 cm

N N NN

170. A circular ring with centre O is kept in the

vertical position by two weightless thin
strings TP and TQ attached to the ring at P
and Q. The line OT meets the ring at E
whereas a tangential string at E meets TP
and TQ at A and B respectively. If the radius
of the ring is 5 cm and OT = 13 cm, then
what is the length of AB?

(a) 10/3 cm

(b) 20/3 cm

(c)10cm

(d) 40/3,cm

the two

figures given below and answer the question.

168. afe 3 SE 2008 1 YHFAR @ A 3 SEH 2009

) THTE %I = 4T i g
(a) Te@m

(b) AR

(c) HTTeTd

(d) wfFam

169, 5 deft Firea Tl 9 o Siaia U AUV ° | AR

6 ¥ T G A T o ST T A x B, 7
AefRaa H A P ATTH TN 8 2

(a) 17 8 <x < 19 &’

(b) 15 {2 <x < 17 4’

(c) 13 &’ < x < 15 @t

(d) 19 T < x <21 9’

170. e e for e &g O 2, i st fufa

2) el ST et TP SR TQ g P 3R Q¥
Sres T T R 1 Y@r OT for & E W firedt @ 3
E qt wq3ifa Tt TP 3t TQ &1 shAwl: A IRB W
firedt 2 gk for i B 5 M A OT = 13
At A AB I I F1d B 2

(a) 10/3 Tt

(b) 20/3 B

(c) 10 Tt

(d) 40/3 Tt

A& (9d. 171 - 175): fRfumt=s

AT Y 941 & I .

Male Professor
oy

Female Professor

U e wrow

S _%

NN

Physice

Mathematics  Chemistry Py ’
vehology
(T Prower

erione) G RG C C )
Ty )

(26)

pi

0 1(45-54 Years) m2 (55-64 Years)

D3 (25-34 Years) 4 (35-44 Years)



y71. HOW many physics profess

ors belon
the age group 35 — 44 ? g to

171, T ifees foremr 3 itper 35-44 % g &t &

(a) 18 AT E 2
(b) 16 (a) 18
(c) 14 (b) 16
(d) 12 (c) 14
(d) 12
2. Which one of the followin discipli ' _ _
& the highest ratio of males togfemalzl'r;es . 172. Frafafas & & frg fig 4 &N T Afeerrel &
(a) Physics mﬁ'qaq:\{’qm%f)
(b) Mathematics (a) e fage
(c) Chemistry (b) TRTE
(d) Economics () W fg
What t f @
73. What  percentage o o .
1 Professors are femgles? @Il Psychology 173. weft wrtafes SRbet & & fopaa wfora wiemd
(a) 40% L
(b) 50% (a) 40%
(c) 60% (b) 50%
(d) 70% (c) 60%
(d) 70%

174. If the number of female Physics Professors

- ; £
in the age group 25-34 equals 25% of all the 174. A 25-34 37y =t F e A HHw

Physics Professors in that age group then
what is the number of male Physics
Professors in the age group 25-34?

HEAT 37 Y A ok it D bed F 25% F
AU 7, Al 25-34 A1 77t & goy ffereht et
TR ?

(@) 2

(a) 2
(b) 6 (b) 6
(c)3 (©)3
(d) 9 (d)9

175. If the Psychology Professors in the
University constitute 2% of all the
professors in the University, then what is

175. 4t feafaamer & oifagm % Oy et
%Mﬁw&mz%%a}ﬁmﬁMaﬁ

. ) Wh e fhat 2 2
Ih)e4r3;mber of Professors in the university? (a) 400
a

(b) 500
e
(d) 700 (700

(27) SET-A/CLASS-1X/2024-25



INTELLIGENCE TEST

176. Arrange the words given below in a
meaningful sequence.
1. Caste 2. Family 3. Newly married

Couple 4.Clan 5. Species
(A)3,2,1,4,5 (B)3,4,5,1,2
€23,14,5 (D)4,5,3,2,1

177. Arrange the words given below in a
meaningful sequence.
1. Cut 2.Puton 3. Mark
4. Measure 5. Tailor
(A)3,1,5,4,2 (8)2,4,3,1,5
(€)1,3,2,4,5 (D)4,3,1,5,2

178. If A + B means A is the mother of B; A- B
means A is the brother B; A % B means A is
the father of B and A x B means A is the
sister of B, which of the following shows
that P is the maternal uncle of Q?
(A)Q-N+MxP (B)P+SxN-Q
(C)P-M+NxQ (D)Q-S%P

179. If A + B means A is the brother of B;A-B
means A is the sister of B and A x B means A
is the father of B. Which of the following
means that C is the son of M?
(AAM-NxC+F (B)F-C+NxM
(CON+M-FxC (D)MxN-C+F

180. If A+ B means A is the father of B;A-B
means A is the brother B; A % B means Ais
the wife of B and A x B means A is the
mother of B, which of the following shows
that M is the maternal grandmother of T?
(AAMXxN%S+T (B)MXxN-S%T
(COMxS-N%T (D)MxNxS%T

181. In the series 2, 6, 18, 54, ...... what will be
the 8th term ?

(A) 4374 (B) 4370

(C) 7443 (D) 7434
182. 1,1,4,8,9,27,16,?

(A) 32 (B) 64

(C)81 (D) 256
183. Peacock : India :: Bear:?

(A) Australia (B) America

(C) Russia (D) England
184. Carbon : Diamond :: Corundum : ?

(A) Garnet (B) Ruby

(C) Pukhraj (D) Pearl

(28)

176. ) forg T 3T Y W A ST
|.enfy 2. 9fER 3, Fafaanfea sier
4.1 5 9t
(A)3,2,1,4,5 (B)3,4,5,1,2
(€)2,3,1,4,5 (D)4,5,3,2,1

177. ﬁﬁqmﬁaﬁmwﬁmaﬁl
| sy 2. e 3. e e

4,919 5. &S
(A)39 l)594!2 (B)2’47 39 175
©)1,3,2,4,5 (D)4,3,1,5,2

178. u&mswwf%A,Bﬁﬁ%;A-wai%
A,Bammé%;A%Bmaqﬁ%ﬁﬁA,Bmﬁm%
aﬂtAmeaﬁ%%A,Bﬁm%ﬁwﬁ—lﬁa
Fa g areaia 2 i p, QF AT R?
(A)Q-N+MxP (B)P+SxN-Q
(C)P-M+NxQ (D)Q-S%P

179. ufi'A+Ba;ranf%A,Baarm§%;A-Bmawi
%%A,Baﬁraﬁ%aﬂtAmeaﬁ%%A,B
mﬁm%lﬁm%ﬁﬁﬁﬁmmaﬁ%ﬁcmw

T R?
(AYM-NxC+F (B)F-C+NxM
(CN+M-FxC (D)MxN-C+F

180. afx A+ BH IR A, BF @Y A - BH 3
%A,Bmmé%;A%Bmaﬁ%ﬁA,Bahwﬁ
3 3t A x BE o & 5 A, B AT R, Frefataa
Fy R aeniard e M, TR TR
(A)YMxN%S+T B)MxN-S%T
(COOMxS-N%T D)MxNxS%T

181, @2, 6, 18, 54, ...... ¥ 83 T& FT G
(A) 4374 (B) 4370
(C) 7443 (D) 7434

182. 1,1,4,8,9,27,16,?

(A) 32 (B) 64

(€ 81 (D) 256
183. T : WK o2 T : 2

(A) fegferan (B) snafe

(OE (D) ¥t
184. TaH : ¥ ;2 =T : 2

(A)TTHE (B) &

(C) T@us (D) |t
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pirections to solve (Q185 to Q186) :

p,Q RS, T,U,V&W are sitting round the
circle and are facing the centre:

1. P is second to the right of T who is the
neighbour of R & V.

2. S is not the neighbour of P.

3. Vis the neighbour of U.

4.Qis not between S & W. W is not between U
&S.

185. Which two of the following are not
neighbours ?

(A) RV (B) UV
(C)RP (D) Qw
186. Which one is immediate right to V?
(A) P (B)T
(OR (D) U

187. A, B, C, D and E are sitting on a bench. A is
sitting next to B, C is sitting next to D, D is
not sitting with E who is on the left end of
the bench. Cis on the second position from
the right. A is to the right of Band E. Aand C
are sitting together. In which position A is
sitting ?

(A) Between B and D
(B) Between E and D
(C) Between B and C
(D) Between Cand E

Directions to Solve (Q188 to Q190)

Five girls are sitting on a bench to be
photographed. Seema is to the left of Rani and
to the right of Bindu. Mary is to the right of
Rani. Reeta is between Rani and Mary.

188. Who is sitting immediate right to Reeta ?

(A) Bindu (B) Mary
(C) Rani (D) Seema
189. Who is in the middle of the photograph ?
(A) Bindu (B) Seema
(C) Reeta (D) Rani

190. Who is second from the left in

photograph?
(A) Reeta (B) Mary
(C) Seema (D) Bindu

(29)

TETaT % &9 (Q185 to Q186)
P,Q,R,S,T,U, v 3t W g 3 =T SIS & 3 s

#$} 30T qE FF NS T
1.P, r%ﬁﬁﬁtmm%sﬁkaﬁtvmq@@ﬁ%l
2.8, Pam'rs‘rvﬂ:ra"fél
3.V, Ut aardt 21
4. Q,saﬁtw%mﬁ:ﬁénw U 3T s F A H A

2

185, Freffiga i & 25 & 2 oS T 2

(A)RV (B)UV

(C)RP (D) QW
186. V % frepean amd 4 2?2

(AP B)T

(COR (D)U

187. A,B,C,DIREGEHIAWASE A, BFITH
A3TR, C, D F A U TR, D, E F G 72 a1 &
ST FACBRW R CIH T TR A, B
SNEF L AR A IR CHaT IS8 A fore
T TWASTR?

(A)BIRD &=
(B) E3RD &g
(C)BIRCHiw
(D) C AR E & =

T & e Q188 & Q190)
Ut Srgferat Bt Rewram & fore wen st a3y ) i

Tt 35 R i firg 3 o R 24, T 3 e v
21 B, T SR S A Y

188. ¥ o Ik <0 1 a7 20
(A) foig (B) it
© T (D) ¥

189. TR F AT Ry

() faig (B) ®iwy
(C) F (D) T
190, TECH S1E T 0L = iy
(A) e (B) ¥
(&) i (D) %3
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191. Which number will replace the question
mark ?

(A) 169
(C) 289

192. Which number will replace the question

mark ?
5 7 3
8 28 4 12 12 8 5 21 6
3 9 ?
(a) (®) (]
(A) -2 (B) 1
(€)o (D)-1

193. Rasik walked 20 m towards north. Then he
turned right and walks 30 m. Then he turns
right and walks 35 m. Then he turns left and
walks 15 m. Finally he turns left and walks
15 m. In which direction and how many
metres is he from the starting position?

(A) 45 m East (B) 30 m East
(C) 30 m West (D) 15 m West

194. Starting from the point X, Jayant walked
15 m towards west. He turned left and
walked 20 m. He then turned left and
walked 15 m. After this he turned to his
right and walked 12 m. How far and in
which directions is now Jayant from X?
(A) 47 m, East '

(B) 32 m, South
(C) 42 m, North
(D) 27 m, South

195. A boy rode his bicycle Northward, then
turned left and rode 1 km and again turned
left and rode 2 km. He found himself 1 km

west of his starting point. How far did he
ride northward initially?
(A) 1 km

(B) 3 km
(C) 2 km

(D) 5 km

(30)

191. 3% foes =7 T &\ 91 e A ?

3|8
N
4 /a9 169\5

A
10 ? 529\ 11

"/9” 12

(B) 361
(D) 441

(A) 169
(C) 289

192. &1 Forees o1 T T 6T 39 <7 2

5 7 3

8 | 28 | 4 12 | 12 8 5|12 s
3 9 ? ‘
(a) ®) N

(A) -2 ®1

©)0 (D) -1

193. e ST At 2 20 whex wem fHas ad qear ®
3R 30 Hiet wrefaT 21 o e 31d ggar & 37K 35 Hiew
=TefdT 21 T a8 =reft 3TR T @ 37K 15 Hiet Sean
R| 3idd: 9 ATt AR gaT & 3 15 Hiet Ierar 2|

& e frafa & form T & ofv ffaa et
T

(A) 45 i@ (B) 30 Hiex &

(C) 30 Hex ufdm (D) 15 HieT ufam

194, foig X & & 9, ST 15 et afim < 3ike
IS T ST SR ST 3R 20 Hiex =rem| i ae anf
AR 15 W = 39 91 9% gt o

aﬁtgsraﬂuzn‘laammmxﬁmﬁag
3T o farm o &

(A) 47 i, &
(B) 32 i, zfeqor
(C) 42 Hiex, 3w
(D) 27 Hiey, gfor

195. Uk wrgehr St Wrsfeber S At 39 e, o
R S R | fornft e ik o et i e
2%&1‘1?@3@@3#@@@:@%5&1%

ﬁmﬁwnmﬁwﬁw#aﬁrﬁﬁﬁaﬁ
ﬁ? N
(A) 1 forefy (B) 3 foprft
(C) 2 fereft (D) 5 foret
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196. A, B, C, D and E play a game of cards. A
says to B, "If you give me three cards, you
will have as many as E has and if | give you
three cards, you will have as many as D
has." A and B together have 10 cards more
than what D and E together have. If B has
two cards more than what C has and the

total number of cards be 133, how many
cards does B have ?

(A) 22
(C)35

() 23
(D) 25

197. Choose the alternative which is closely
resembles the water-image of the given

combination.

E8t4e9C

(1) 3810900 (2) E8IPOED
(3)3give6C (4) E8ITODAC
(A) 4 (B) 2

(C)3 (D)1

198. What is the product of all the numbers in
the dial of a telephone ?
(A) 1,58,480 (B) 1,59,450
(C) 1,59,480 (D) None of these

199. Find the number of triangles in the given

figure.
(A) 14 (8) 10
(C)12 (D) 8

200. Choose the figure which is different from

the rest.
PO |1 52| 3
(1) (2 B @ 6

(A) 3 (B) 2

(€)1 (D)4

(31)

196. A,B,c,paﬂrgmm@a@aﬁm,fsa
a3, v e i e 4, A T
mﬁﬁﬁﬁlﬁﬁ%uﬂ%sﬂwﬁﬁm?ﬁ?
mwgamwzﬁﬂﬁﬁﬁaﬁnﬁﬁw
%I"AW\B#WFWDWE'& 10 1S
mﬁmﬁx}%mcﬁamyﬁm%aﬁtmﬁ

sﬁgﬂ;’r@ﬁﬁ,a’m%mmﬁm%‘?
(A) 22 (B)23
(C) 35 (D) 25

197. agﬁmgﬁa‘rﬁqﬂqwaﬁm@’%

3 Ty fereraT- S
E8t4e9C
(1)3816000  (2) E814O€D

(3)3giye6C (4) E8I¥6DC
(A) 4 (B) 2
()3 (D)1
198, el ¥ grret # Tt el <hT O 0
5y,
(A) 1,58,480 (8) 1,59,450
(C) 1,59,480 (D) 70 W IS T

199, &€ sty & Prgsit ot e 1 shIfor |

(B) 10
(D)8

(A) 14
()12

200. € 3MFHF T 1 At @ =T R)

PR 5| F

(1) @ @) (@) (5)
(A)3
@1

(B)2
(D)4
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